RO FEAEL RS Lo

(1) 4x*-12x+9 (2) m>-25

(3) x*+6x+5 (4) a*>—24a+ 144

5) 2x2y - 4xy2 + 6xy 6) (x+ y)2 -(x+y)-2
(7) a*-9a-52 (8) x*-16

(9) 6a%bc? + 15ab>c® — 21a%b*c? (10) x*>+4x+4
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(1) 4x*-12x+9 = (2x - 3)?

(3) x*+6x+5=(x+1)(x+5)

(5) 2x%y —4xy? +6xy = 2xy(y — 2x + 3)

(7) a*-9a-52 = (a+4)(a—-13)

(9) 6a*bc? +15ab*c® — 21a%b*c?
= 3abc(2ac + 5bc — 7abc)

(2) m*-25 = (m+5)(m->5)
(4) a*-24a+144 = (a-12)
6) (x+y)’—(x+y)-2
=A2-A-2
=(A+1)(A-2)
=(x+y+1)(x+y-2)

(8) x*-16 = (x +4)(x —4)

(10) x*>+4x+4 = (x+2)
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RO FEAEL RS Lo

(1) —14a%bx — 42ab*x* + 28a°bx (2) x*-6x+9

7 2
(3) m*—6m-7 4) gxyzz - gxyz2
(5) 9a®-6ab +b? (6) x*—14x+33
(7) (a—b)*-2(a-b)-8 (8) 4a*-9
(9) a*>-0.2x+0.01 (10) m>-169
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(1) - 14a%bx — 42ab°x* + 28a°bx
= —7abx(2a + 6bx — 4a)

() m*—6m—-7=m+1)(m-7)

(5) 94— 6ab +b* = (3a—b)*

(7) (a-b*-2(a-b)-8
= A’-2A-8

= (A+2)(A-4)
=@-b+2)a-b-29)

(9) a*>-0.2x+0.01 = (a—0.1)?

(2) ¥*-6x+9 = (x-3)

(4) gxyzz - %xyz2 = %xyz(7y ~2z)

(6) x*—14x+33 = (x-3)(x-11)
(8) 44*>-9 = (2a+3)(2a-3)

(10) m?*—169(m + 13)(m — 13)
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RO B EL RS Lo

(1) x*+10x+25

1
3) x¥*—-
@) -
(5) 4m?+ 12mn + 9n?

(7) 2x*>+6x-36

(9) x*+5x—84

(2) a*>-225

4 (x-y)’-3(x-y)-10

(6) a*>—0.1x+0.12

(8) a*-11a+28

10) §a3b2c - §abzc3
(
4 4
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K2 # No.3 (BFE)

+d

(1) x*+10x+25 = (x+5)>

3) xz—}i :(x+%)(x—%)

(5) 4m?+ 12mn +9n® = 2m + 3n)?

(7) 2x*>+6x-36
=2(x*+3x—18)
= 2(x + 6)(x - 3)

(9) xX*+5x-84=(x-7)(x+12)

(2) a*>-225 = (a+15)(a—-15)

4) (x-y)*-3(x-y)-10
=A2-3A-10

= (A+2)(A-5)
(x-y+2)(x-y-5)

(6) a*>—0.1x+0.12 = (a+0.3)(a—0.4)
(8) a*—11a+28 = (a—-4)(a-7)

3 5 1
(10) =a®h%c - —ab?c® = ~ab?c(3a® - 5¢7)
4 4 4
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RO FHEAEL RS Lo

(1) 1-m?
(3) (x—2)>-2(x-2)-15

(5) x*— g

(7) 16a*—40a + 25

(9) a*-15a+56

(2) a*>-0.04

(4) -4y
(6) x*-22x+121
(8) 3x*+3x-6

1
10) a*+a+ -
(10) a“+a 1
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(1) 1-m?=1+m)(1-m)

(3) (x—2)*>-2(x-2)-15
= A2-2A-15

= (A+3)(A-5)
(x-2+4+3)(x-2-5)
(x+1Dx-7)

(5) 22 =(x+%)(x—g)
9 3 3

(7) 16a*—40a + 25 = (4a - 5)?

9) a*-15a+56 = (a—7)(a—-8)

(2) a*-0.04 = (a+0.2)(a-0.2)

(4) x*—4y* = (x +2y)(x-2y)

6) x*—22x+121 = (x—11)?

(8) 3x2+3x-6
=3(x*+x-2)
=3(x+2)(x-1)
2
(10) c12+a+1 = (a+1)
4 2
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RORXZRED LIRS W,
(1) 4a®-9p°
(3) 8x*>+8x+2

(5) 4x*—12xy + 9y

(7) (x+2y)*=9(x +2y) + 52

(9) m*-1.44

(2) a*>—3a-54

2 1
4) a®—Za+=
(4) 34T 5

6) x*—18x+81

(8) 4-x°

25
(10) 4x*- =
16
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K2 Nob (BRE)

+d

(1) 4a®-9b* = (2a + 3b)(2a — 3b)

(3) 8x*>+8x+2
=2(4x* +4x + 1)
=2(2x +1)?

(5) 4x*—12xy +9y* = (2x — 3y)*

(7) (x+2y)*—9(x +2y) + 52
= A’-9A +52

= (A+4)(A-13)
=(x+2y+4)(x+2y-13)

9) m?>—144=(m+12)(m—-1.2)

(2) a*-3a-54 = (a+6)(@a-9)
2 1 1)’
4) a2—§a+—:(a——)

(6) x>*—18x+81 = (x—9)?

(8) 4-x>=Q2+x)(2-x)

(10) 4x*— 2 _ (Zx + §)(zx -~ 5)
16 4 4
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RO B EL RS Lo

5 3 1
1) 243 - 2a%bc? 2) = _ 42
(1) f c f C ()4 X
(3) p*-20p+96 4) 1-x?%-2(1-x)-3
(5) gxz—‘g (6) —2x%+4xy + 30y°
4~ 16 y
(7) 0.01—m? (8) 9-n?
8 16
9) 4x?+4xy + 1 10) 2+ g+ =
) y+y (10) a ey
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K2 Nob (BFE)

+d

54, B33, 1y 1_2_(1 )(1_)
(1) 2abc 2abc —2abc(5b 3¢) (2) 1 xX° = 2+x 5
4) 1-x?%-2(1-x)-3
=A>-2A-3
(3) p*-20p+96 = (p-8)(p—12) = (A+1)(A-3)
=1-x+1)(1-x-3)
= —x(4-x)

9, 19 (3 7\(3 7 (6) —2x*+4xy + 30y

b)) x-—= (—x+ —)(—x— —) = —2(x* - 2xy — 15¢°)
4 16 2 4)\2 4 2(x + 3y)(x - 5Y)

(7) 0.01-m?=(0.1+m)(0.1—-m) (8) 9-n*>=B+n)(3-n)
2
9) 4x*+4xy +y* = Qx+y)(2x —y) (10) a*+ ga + ;_g = (a + %)
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RO FHEAEL RS Lo

(1) a*>-1.82+0.81 (2) -12x*+12x-6
(3) 16x*— 251> (4) a*+3a*-4
(5) —x*>-20x-91 (6) abc®—ab’c
1 2 2 2
7 - S +x (8) 25a”+20ab +4b
1
(9) 0.04—m? (10) sz -169
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(1) a°-1.8a+0.81 = (a1 —0.9)*

(3) 16x>—25y* = (4x + 5y)(4x — 5y)

(5) —x*-20x-91
= —(x* +20x +91)
=—(x+ 7)(x+13)

(9) 0.04-m?* = (0.2 +m)(0.2 —m)

(2) -12x*+12x-3
= 3(4x*—4x+1)
= -3(2x-1)*

(4) a*+3a>-4

= ()" +3a2-4
A2+3A-4
(A+4)(A-1)

= (> +4)(:>-1)

= (@ +4)(a+1)@a-1)

(6) abc®—ab’c
= abc(c? - %)
= abc(c + b)(c - D)

(8) 25a®+ 20ab + 4b* = (5a + 2b)?

1 1 1
(10) -x*-169 = (—x + 13)(— - 13)
4 2 2
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